ECONOMICS SUBSIDIARY
B. A. Part-1 Unit-111

01. In the ----—--—--- all factor or inputs become variable and no inputs is fixed.
(a) Short run (b) Long run
(c) Law of variable proportions (d) Law of diminishing marginal return

.................. ¥ 9t dRe a1 Imrd RerR gRadt 99 wird € 3k $Is g Rer )

(a) 3TTDBI
(b) SreET
(c) fafde srqumal &1 frm

(d) " AHid gfdwa &1 |

02. The law of variable proportions is also called as--—---—------—--- .
(a) Law of diminishing marginal returns (b) Law of increasing marginal returns

(c) Law of returns (d) Law of proportionate returns
fafae squral & e & a8 A w1 Sar -

(a) T AT Ufdwe &1 fra

(b) e AHid ufawd &1 fIH

(c) W™ & ufawe &1 A

(d) sguTicres Ufdther &1 fram

03. The law of variable proportions depends on the assumption-------------—---- .
(a) Heterogeneity of factor (b) Homogeneity of factors

(c) Changing technology (d) Varied types of goods



(b) T BRB

(c) TRadTe qd-ild

(d) o= voR & AmH

04. Which is the best stage of production in the law of variable proportions?
(a) Increasing returns (b) Diminishing returns

(c) Positive marginal returns (d) Negative marginal return
fafde squral & fFF ¥ SRS &1 ST IR A9 giar @ ?

(a) 90 Ufthel

(b) Ted ufawe

(c) T THS AT UfaThd

(d) FoTHS AT Ui

05.In law of increasing returns-

(a) MC < AC (b) M C> AC
(c) MC = AC (d) MC x AC
saafey qfe Pram ¥

(a) MC < AC (b) MC > AC
(c) MC = AC (d) MC x AC

06. Which of the following is not variable inputs?
(a) Raw material (b) Power

(c) Equipment (d) None of these



fr=ifaRaa 4 9 sa—ar aRadf smm a8 2 ?

(a) Pl Hlel (b) faorelt

() SADTA (d) 77 & PIg TE
07. The title of Thomas Robert Malthus most impressive writing was-

(a) An essay on population growth (b) Population and food growth

(c) An essay on the principle of population (d) The limitation of man
AT WS Ao T G940 YGRS e &1 fids or ?

(a) An Essay on Population growth

(b) Population and Food growth

(c) An essay on the Principle of Population

(d) The limitations of Man.

08. According to Malthus the population growth is------ .
(a) Proportionally (b) Exponentially
(c) Arithmetically (d) Geometrically

Ao @ IATAR, 9@ fg sidl 28—

(a) JATUTCTeh (b) TSl ¥
(c) BT (d) S
09. Nature checks on population growth can include--------------- .

(a) War (b) Famine
(c) Disease (d) All of these

e gfg W yiefas 9 A wfie 8 @ad @ ?

(a) J& (b) &1
(c) R (d) SR i



10. When did Malthus principal first published?
(a) 1698 (b) 1798
(c) 1898 (d) 1998

Heerd $T Nigld Ugell IR ®a UHIIa gam ?

(a) 1698 (b) 1798

(c) 1898 (d) 1998

11. How many years does population become double according to Malthus?

(a) 200 (b) 256
(c) 25 (d) 2000

e @ AR, fdha aul 4 S9@r gl & ol @ ?
(a) 200 (b) 256

(c) 25 (d) 2000

12. Nature’s dining table is for limited guest, so an invited visitor must starve. Whose
statement is this?

(a) Karl Marx (b) Dalton
(c) Robbins (d) Malthus

“gpfd B @ B A At afaf@ar & fag @ s {391 FEFo & aFoared @i
e B @ & uSIT’ AT fhadt v+ € ?

(a) BTl ATRI (b) SleeA

(c) Nifa=a (d) Hreer

13. “A baby come to the world not only with a mouth and stomach but also with pair of
hands.” Whose statement of this?

(a) Prof. Cannon (b) Dalton
(c) Karl Marx (d) Hicks



"SI A el gear @ @ fag g &k te & T8 e, e am s @ fag
qIg 8 W) orar 217 ¥E feusd s 2 ?

(2) T (b) STecH

(c) BIet AT (d) 2

14, - introduced in 1924 “the principle of optimum population” in his book
“wealth”.

(a) Malthus (b) C.P. Blanker

(c) Edwin Cannon (d) Raymond Pearl

_________________ 4 1924 9 YSHIRE U &IPS "Wealth" # “sderad sa@m g

DI YLATYT DI |

(a) T (b) ¥o Yo =IdR
(c) TSfaT b (d) s U

15. Economic cost includes explicit cost and?

(a) Implicit cost (b) Social cost

(c) Fixed cost (d) Money cost

(a) Y IITd (b) ARSI

(c) Rer @mTa (d) e @

16. Opportunity cost is---------------- .

(a) Direct cost (b) Total cost

(c) Accounting cost (d) Cost of foregone opportunity

AR T 2—
(a) UTeT < Td (b) BT ARTA

(c) TG T (d) gAY SR B AT



17. The cost which vary as the level of output varies are called............

(a) Variable cost

(c) Prime cost

(b) Direct cost
(d) All of the above

ARG & S & R & AR TN T Bl B, SH H&T IaT 28—

(a) IR AR
(c) I NI

18. Which one of the following is correct?
(a) TC=TFCx TVC

(¢) TC=TFC+TVC
frrafafeaa & @ sa—ar af @ ?

(a) TC=TFC x TVC (b)

(¢c) TC = TFC + TVC (d)

19. When production is zero total cost will be
(a) Zero

(c) Equal to fixed cost
9 IUTed I @ Al H AR sHN—

() =3

(c) ReR & Td & A

20. When MC curve cuts Ac curve-
(a) AC=MC
(c) AC<MC

G4 MC d9sh, AC 9 DI BIcdl 2—
(a) AC = MC

(¢) AC <MC

(b) el ATTA

(d) ST |

(b) TC=TFC=TVC
(d) TC=TFC-TVC

TC=TFC=TVC

TC=TFC-TVC

(b) Equal to variable cost

(d) Equal to marginal cost

(b) gRadt AT & FHH
(d) AT AT & FHH

(b) AC>MC
(d) Both AC and MC are falling

(b) MC

(d) EF AC 3R MC iR %@ €|



